MRBERFAE (7 h—HRILH)

1. #iE= R410ADTAFRYTL—XRAN—2—L 1] —X=H5 % |

2. ®4%&= [MPUZ-WRP112 - WRP140 - WRP160HA

3. HEET (R158R)
(¥HBE=E (BHLRH=S)
(2)72h—mhRIL b
Q¥ X~
@94 X - Bk
@1 ALY OuEE (FRICK2HER)
OBBEBEEAT-BEDIRY Z2HFDRAOT o Hh—HRL FOHBF
BIFEFELYERELETOTS
() BEtT HAAD LA TARIL ERRY
(B)BEHTI2AFEALSH=RIL FALHSEBELETORENE

4. REEHE (FEEO/PMRLUT2HEZMERALTER)

(1 BEAKEREE

(2)REASMERE

(3) EREHRAKEMES

(4)EREHASREME S

(8)7 v A—HIL LD3IRD

()7 h—HRILLDEAKD

(77 oh—RILMZETBENE
@BIERIE N E
Qe AMIEAE
QEIEELAMERBFICZITHIEE

fzfZL. fts’' =ftd & Efts=fts’,

Fh-Hg-(W-9.8-Fv)-Lg

Rb= LNt

fts' >t & Efts=TtTHZ DT

o< 1.5 | Wpa

<
(8)7 v h—HIL DT E

D7 vh—RIL FOEIE

@arvyU—t+tOES

@RI FDEFIARE

@FESIRME

W=l 108 ke

R
=M 10 |
A=| 78 |mm?= |
Ne 2 |*
He=| 500 (0500 |m
L=| 370 [0.370 |m

Le= mm(Lg=L/2)10.185 |m

78 x10°%|m?

‘mm=

mm=

Kn=l 10 ]

Kvkh/2=| 05 |
Fh=Kh-W-9.8= 1058.4 N
Fv=Kv-W-9.8= 529.2 N

= 582.8 N

Q=Fh/N= 264.6 N

o=Rb/A=| 75  |MPa<ft=176.4MPa
T=Q/A=| 34  |MPa<fs=132.3MPa
fts=1.4ft-16 7 = 2415 MPa

fts= 176. 4 MPa

fro| 1764 WPa
= ERERIBT U N—
= 120 lmm= | 0120 |m
= 70 lmm= | 0070 |m

Ta=| 3136 | N > Rb=| 583 |N

LEOREBREIYVTUA—RIL NI+ G2EBEEZET 5,

950 330
« 590 .
// N
[ \
\ )
N L1 (]
__G 5 A __G
ya ™
[ \
\ ) S
LO
|_ [ | A A /
p 600 185
< 370 ) MPUZWRP112HA-TSH

X1




